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8. a. Convection.

b. 7N, 7 N. In each case, the ball makes a 2 N downward force on the magnet & N
support assembly. In the picture on the left, the 2 N is because the ball is sitting on it.

In the picture on the right, it’s because of Newton’s 3™ law as shown here. In part (i) &2 N
of the question, it’s half and half.

Scale

c. Same. Equal speeds means equal kinetic energies. Equal heights means equal potential energies.
Direction of motion doesn't matter; energy is a scalar.

d. The slope is the acceleration. So, the first graph should have a point where v = 0, but the graph is
not horizontal. The second graph should have a point where v is not 0, but the graph is horizontal.
For example:

) v v=0and a0 i) v| v#0anda=0
here everywhere on this line
_

N

e. The +z direction. (Pointing out of the page.) Like other vectors describing rotation, angular

momentum points along the axis of rotation. If the fingers of your right hand go around the orbit
pointing in the direction of motion, your thumb points in the direction of L.




